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GSE PreCalculus: Unit 5 - Verifying Trig ldentities
WS 5.4; Sum/Difference Identities -

( ) Find the exact value of each expression.
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Write the expression as sine, cosine, or tangent.
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Verify the identities.
ol

gt 8. sin(37 —x) =sinx 9, sin[g+x]:cosx
"n\.bé — H . .
B Cwssn® o e bea Thsin
5in 3T oSk — cos 3T SinX - = Jn b (O
O LK -~ (1) sinx L Gosx
sinx = Siax
. 2
10. SIN(X+y}+sin{x—y)=2sinxcosy GHBE cosx + ¥ —secx
w1 cosx
D X wsg{' %"‘ Sinx co%y — Cosnsi 2
Cos’X L5t X
2 siax oosa, e 23inAsy dodx Cos¥
v @5?‘)( ’l“:i"ly
—_—
¢ I
) o
12. cosx+tan xsinx =secx 13. sin’® x(1-2cos® x+cos* x) =sin’ x

Cosx + 5iax.sias = secx Sin % (—:,;;ﬂx?_wiﬁﬁ
a0sX - _ 2o L)
st (=)

. CUSX —[—Sin"K l
0%,; T cosx oin?x (1 *0-6’?‘7("5"5?'0
' .2
2 fs\'n?“)f PRS2 v s.h’é/( Ls'\h‘*x ) (sin *)
- = 1
dos X = OoK . a2 —sihqxv’
- S1n X -
14 COS X =1+sinx_
" 1-sinx COS X
Cogx , | Asinx Cosx ( [+ sinx)
sty VXS T ] -sin*x
» (osx (\A—smﬂ coxx [4sinx )
— T Y Bos? X

S
sy —Siny -5 ,
Lt |sinx . { dsinx

e X Coek




